



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{2}{5}\right) =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(\frac{1}{6}\right) - \left(-\frac{1}{2}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{2} = \frac{11}{6} = 1\frac{5}{6}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{3}{4} = \frac{103}{4} = 25\frac{3}{4}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} = \left(-\frac{7}{50}\right)$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{1}{3} = \frac{26}{3} = 8\frac{2}{3}$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{1}{3} = \frac{19}{3} = 6\frac{1}{3}$$

$$\left(\frac{1}{6}\right)^2 - \frac{2}{5} = \left(-\frac{67}{180}\right)$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{2} = 2$$

$$\left(\frac{1}{4}\right)^{(-1)} + \frac{1}{6} = \frac{25}{6} = 4\frac{1}{6}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{25}{6} = 4\frac{1}{6}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{3}{5} = \frac{113}{20} = 5\frac{13}{20}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \frac{2}{5} = \frac{18}{5} = 3\frac{3}{5}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{52}{75}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{3}{5} = \left(-\frac{13}{5}\right) = \left(-2\frac{3}{5}\right)$$

$$\left(-\frac{1}{6}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{17}{30}\right)$$